ACCESSORIZED BY

METEL

8187038

IS WWW. metec. ee

MB VITO 2020-

Art. 81870370
Eurobar | Eurobar | Orurowanie | Eurobar

Paigaldusjuhend | Mounting instructions | Instrukcja montazu | Montageanleitung

. Eurobar / Eurobar / Orurowanie / Eurobar

. Kompensaator / compensator / kompensator /
Kompensator

. Kronstein / bracket / wspornik / Konsole

. Kronstein / bracket / wspornik / Konsole

. Kronstein / bracket / wspornik / Konsole

. Kronstein / bracket / wspornik / Konsole

. T-polt / T-bolt / T-Sruba / T-bolzen

. Seib / washer / podkitadka / Scheibe 8,4x16x1,6

. Seib / washer / podktadka / Scheibe 8,4x24x2

. Vedruseib / spring washer / podktadka sprezysta /
Federnscheibe A8

11. Mutter / nut / nakretka / Mutter M8 DIN 934

12. Mutter / nut / nakretka / Mutter M8 DIN 985

13. Polt / bolt / $ruba / Bolzen M8x25

14. Kronstein / bracket / wspornik / Konsole

15. Kronstein / bracket / wspornik / Konsole

16. Kronstein / bracket / wspornik / Konsole

17. Polt / bolt / $ruba / Bolzen M8x16

N —
-

N
OADON A aapN

QO OWoONOOP~W

_

M6 - 11 Nm
M8 - 25 Nm

g
o7

Kaal /Weight / Masa / Gewicht: 8,5 kg

18. Polt / bolt / $ruba / Bolzen M8x20

19*. Puks / bushing / tuleja / Buchse

20*. Konks / hook / hak / Kloben

21*. Konks / hook / hak / Kloben

22*. Seib / washer / podktadka / Scheibe 6,4x16x1,6
23*. Mutter / nut / nakretka / Mutter M6 DIN 934

NN=_2 22NN aAOaNDNNNDNODN

* - only for front drive VITO

10 000 km 1]2]3]4]5]6]7

= 8] 9l7 "R[m3[14]

(o e Ix s
29[30] |

Maksim. lubatud laternapaigaldise kaal / Max. weight of assembly of extralights / Max. ciezar montazu reflektorow
zewnetrznych / maximale zulassige Gewicht der Zusatzscheinwerfer: 1,8 kg

(koos tulede ulemise kinnitusega / with upper supports / z gérnymi podporami / mit der oberen Halterung: 3,0kg)
Paigaldusaeg ilma elektritdddeta / Time of mounting w/o wiring works / Czas montazu bez prac elektrycznych / Einbauzeit

ohne elektrische arbeit: 90 min

Vajalikud tooriistad / Required Tools /| Wymagane narzedzia / Benotigte Werkzeuge

10 10 ®
£ 13 13 .

All Rights Reserved by Tarmetec | www.metec.ee

Bl
ok

30.06.2021 1/4




MB VITO 2020-
Eurobar | Eurobar | Orurowanie | Eurobar

Front-wheel drive
Naped na przednie kofa
Frontantr

All Rights Reserved by Tarmetec | www.metec.ee 30.06.2021 2/4



MB VITO 2020-
Eurobar | Eurobar | Orurowanie | Eurobar

Esivedu

Front-wheel drive
Naped na przednie kotaj,
Frontantr i

Esivedu

Front-wheel drive i
Naped na przednie kota '~
Frontantr ;

Ry

Front-wheel drive
Naped na przednie kota
Frontantr

® Kui METEC toode ei vasta Teie ootustele vdi kui on tegemist toote ebapiisava kvaliteediga, siis pretensioonid esitada lehel www.metec.ee

e |f the METEC product does not meet Your expectations or if it is a product of insufficient quality, then you can submit a claim at www.metec.ee

e Jesli produkt nie spetnia Twoich oczekiwan Meteci, lub jesli sg niewystarczajacej jakosci, nastgpnie przedstawi¢ roszczen do www.metec.ee

e \Wenn METEC Produkt nicht Ihren Erwartungen entspricht oder wenn es um Qualitdtsmangel geht, dann bitte die Anspriiche auf Seite www.metec.ee einreichen

All Rights Reserved by Tarmetec | www.metec.ee 30.06.2021 3/4



MB VITO 2020-
Eurobar | Eurobar | Orurowanie | Eurobar

Lisa /extra /| dodatek / Extra

All Rights Reserved by Tarmetec | www.metec.ee 30.06.2021 4/4



